2013 Remuneration Report Councillor's Expenses

<u>B. Bratina</u>	Total <u>Expense</u> \$	# of <u>Attendees</u>	Remuneration <u>Amount</u> \$
Stoney Creek Chamber of Commerce January 29th, 2013, Mayor's Luncheon, Grand Olympia Mayor's State of the City Address 8 tickets	316.40	8	39.55
Hamilton & District Labour Council Labour appreciation Night, January 31, 2013 2 tickets	100.00	2	50.00
The Hamilton Black History Committee 17th Annual Rev. John C. Holland Awards 2 tickets	160.00	2	80.00
Jewish National Fund of Canada N-Negev Dinner Hamilton	180.00	2	90.00
Queen Victoria is Celebrating the Retirement of Joanne McIntosh June 14, 2013 2 tickets	50.00	2	25.00
2013 Association of Municipalities Ontario Conference Ottawa, Ontario August 18-21, 2013 Registration & banquet Accommodations	785.35 <u>883.18</u>		1,668.53
70th Anniversary 424 Squadron Fund Gala Dinner September 28, 2013 1 ticket		1	50.00
Kick off 2013 in Support of United Way September 13, 2013	50.00	2	25.00
Jennifer Jackman Retirement-CanMet Manufacturing May 24, 2013	20.00	2	10.00
2013 Grey Cup Regina, Saskatchewan November 22-25, 2013 Gala Flight Transportation	708.00 971.61 170.00		
Hotel Food	778.35 105.95		2,733.91
March 407 ETR May 407 ETR June 407 ETR Aug 407 ETR Sept 407 ETR			35.98 45.10 57.43 110.29 39.12

	Appendix "	'B'' of Repo	rt FCS14006
		F	age 2 of 23
Oct 407 ETR Nov 407 ETR Dec 407 ETR			45.81 22.57 79.12
2013 AMO Urban Symposium April 18 & 19, 2013			
Mississauga, Ontario Registration fee	904.00	2	452.00
CYO Celebrity Dinner-Children's Fundraiser February 28, 2013 Hamilton Convention Centre			
Dinner tickets	250.00	2	125.00
Ventura's Signature Restaurant Mayor's Queen's Jubilee Dinner February 6, 2013		1	25.00
Outstanding Business Achievement Awards Gala March 2, 2013			
Flamborough Hills Golf & Country Club 2 tickets	150.00	2	75.00
Lunch Meeting Russell Williams Family Restaurant March 6, 2013	47.62	6	7.94
Lunch Meeting Acclamation Bar & Grill March 18, 2013	50.00	3	16.67
Lunch Meeting Radius Café		Ū	10.07
March 28, 2013 Liberty for youth-won lunch with Mayor	88.37	4	22.10
30th Anniversary Gala Dinner Redeemer University College Ancaster, Ontario			
April 13, 2013, 1 ticket Lunch Meeting		1	125.00
Sheraton Hamilton, Ontario April 29, 2013	146.56	6	24.43
Clara's Climb Devlin's Country Bistro Mt. Pleasant, Ontario April 27, 2013		'n	
120 guest	2,486.00	120	20.72
Staff meeting Collins F & B Warehouse Dundas, Ontario			
May 17, 2013	75.76	6	12.63

•

Appendix "B" of Report FCS14006 Page 3 of 23

Lunch Meeting Radius Café July 3, 2013	144.24	6	24.04
Rotary Round Up Annual BBQ & Auction Ancaster Fairground August 16, 2013 1 ticket		- , 1	95.00
CANUSA Mayor's Luncheon Sheraton Hamilton August 10, 2013 12 people	1,013.61	12	84.47
Lunch Meeting Lo Presti's at Maxwell Hamilton, Ontario August 14, 2013	153.40	5	30.68
Chief's Gala 2013 Dinner Liuna Station, Hamilton, Ontario August 26, 2013 2 tickets	250.00	2	125.00
Municipal Affairs Luncheon Mythic Grill London, Ontario September 9, 2013	84.07	4	21.02
Hamilton Chamber of Commerce Salon Dinner with Christopher Hume September 26, 2013 2 tickets	197.75	2	98.88
Hamilton Chamber of Commerce City Manager's Breakfast Waterfront Banquet Centre October 22, 2013			
2 tickets Collins F & B Warehouse Dundas, Ont.	90.40	2	45.20
September 25, 2013 Lunch meeting	58.32	3	19.44
Sheraton Hamilton October 2, 2013 Breakfast meeting	66.20	3	22.07
The Ontario Sport Hall of Fame 2013 Induction Ceremonies October 15, 2013 1 ticket		1	169.50
Total			6,849.20

Appendix "B" of Report FCS14006 Page 4 of 23

Appendix "B" of Report FCS14006 Page 5 of 23

Total	-	2,838.20
Tim McCabe's Retirement Event, 1 ticket November 14, 2013	. 1	36.00
Stoney Creek United Church Fund Raising and Silent auction September 14, 2013	40.00 2	20.00
Stoney Creek Chamber of Commerce 2013 Citizen of the Year Awards May 9, 2013, 1 ticket	1	45.20
Powergroup Communication with Style Professional Development Training 3 sessions		2,712.00
Friends of the Eramosa Karst Celebration Dinner & Dance March 9, 2013 Sponsorship, \$300.00		25.00
<u>B. Clark</u>	Total # of Expense <u>Attendees</u>	ProRated Expense

	Appendix "B"		t FCS14006 age 6 of 23
<u>C. Collins</u>	Total # o <u>Expense</u> <u>Attend</u>	f Pro ees Exp	Rated bense
January-May 2013 Mileage			454.25
Volunteer Appreciation Lunch "Catch " Members December 17, 2013	78.82	6	13.14
May-December 2013 Mileage			836.30
Total			1,303.69

Appendix "B" of Report FCS14006 Page 7 of 23

S. Duvall	Total # c <u>Expense</u> <u>Attenc</u>	of ProRated lees <u>Expense</u>
Hamilton & District Labour Council, Labour Night Dinner January 31, 2013 at Michelangelo's Banquet Centre		
1 ticket	50.00	1 50.00
FCM-Sustainable Communities Conference		
Windsor, Ontario		
February 13-15, 2013 Registration	770.00	
Mileage	331.56	
Accommodation	559.35	4 770 04
Per diem	112.00	1,772.91
FCM Board Meeting		
Prince George, British Columbia		
March 6-9, 2013 Airfare	990.74	
Mileage	14.14	
Parking	59.00	
Accommodation	511.80 244.00	
Per diem Shuttle, taxi	93.00	1,912.68
FCM Annual Conference Vancouver, British Columbia May 31-June 3, 2013 Registration	735.00	
Airfare	708.72 14.14	
Mileage Parking	50.50	
Accommodations	1,337,40	
Per diem	175.80	0.000.50
Тахі	45.00	3,066.56
FCM Board Meeting St John's, New Foundland September 4-7, 2013		
Transportation	867.49	
Mileage	14.14	
Parking	59.00	
Accommodation Per diem	1,071.72 143.00	
Taxi	30.00	2,185.35
FCM Board Meeting Ottawa, Ontario		
November 25-29, 2013		
	577.80	
Hotel Per diem	1118.48 <u>213.21</u>	
	<u>410,41</u>	1,909.49
Total		10,896.99

Appendix "B" of Report FCS14006 Page 8 of 23

<u>J. Farr</u>	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated <u>Expense</u>
Hamilton Association for Residential and Recreational Redevelopment Programs, Dancing on Sunshine Gala 1 ticket	100.00	1	100.00
The Hamilton Black History Committee 17th Annual Rev. John C Holland Awards	225.00	3	75.00
India-Canada Society of Hamilton & Region Ghandi-King Dinner and Presentation March 22, 2013, Hamilton Convention Centre	200.00	4	50.00
Healthy Transport Consulting Mobility Funding Symposium Registration April 8, 2013			305.10
Queen Victoria is Celebrating the Retirement of Joanne McIntosh June 14, 2013 2 tickets	50.00	2	25.00
Hamilton Waterfront Trust Northend reunion picnic, July 13, 2013 Macassa Bay Yacht Club	74.90	4	18.73
Total			573.83

Appendix "B" of Report FCS14006 Page 9 of 23

<u>L. Ferguson</u>	Total <u>Exp</u> ense	# of <u>Attendees</u>	ProRated Expense
Hamilton Health Sciences Foundation HHSF Gala, 1 ticket	300.00		300.00
Redeemer University College 30th Anniversary Gala and Concert April 13, 2013, 2 tickets	250.00	2	125.00
S.H.A. R. E Agriculture Foundation's Annual Charity Banquet April 11, 2013, 1 ticket	40.00	1	40.00
The Canadian Club of Hamilton Robert J Deluce, Porter Airlines Non-member lunch, April 18, 2013	45.00	1	45.00
Ancaster Senior Achievement Centre Golf Tournament, April 28, 2013			125.00
Rotary Club of Ancaster A.M. 16th Annual Rotary Charity Golf Classic June 20, 2013			150.00
Hamilton Chamber of Commerce Ancaster Division May Ancaster Meeting			25.93
Ancaster Community Services Links Golf Tournament June 5, 2013, Golf & Dinner			175.00
Hamilton Chamber of Commerce Ancaster Citizen of the Year			79.10
McMaster Pro-Am Golf Challenge July 11, 2013			100.00
Hamilton Chamber of Commerce Ancaster Division			25.93
Rotary Club of Hamilton Rotary Round Up BBQ tickets	190.00	2	95.00
Retirement for Paul Mallard September 30, 2013 1 ticket		1	30.00
Ontario Building Officials Association Flamborough Hills Golf & Country Club October 6, 2013			141.25
Hamilton Chamber of Commerce City Managers Breakfast 1 ticket		1	45.20
Tim McCabe's Retirement November 14, 2013		. 1	36.00

	Appendix "B	•	ort FCS14006 age 10 of 23
Hamilton Chamber of Commerce Ancaster Division			25.93
ACC Meeting, December 2, 2013 The Brassie Pub	133.82	6	22.31
Hamilton Chamber of Commerce Ancaster Division			25.93
December 17, 2013, Christmas Luncheon The Hamilton Golf and Country Club Limited	283.61	5	56.73
December 20, 2013, Christmas Luncheon The Hamilton Golf and Country Club Limited	427.10	6	71.19
Total			1,740.50

- - -

Appendix "B" of Report FCS14006 Page 11 of 23

<u>T. Jackson</u>	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated Expense
Hamilton & District Labour Council, Labour Night Dinner January 31, 2013 at Michelangelo's Banquet Centre 1 ticket		- 1	50.00
SACHA Chocolate Fest, Hamilton Convention Centre February 7, 2013, 2 tickets	50.00	2	25.00
Catholic Youth Organization 50th Anniversary Camp Marydale Dinner February 28, 2013, 1 ticket		1	125.00
Trenholme Bocce Association Valentine Day Dance, February 9, 2013 2 tickets	140.00	2	70.00
Hamilton & District Labour Council Labour appreciation Night, January 31, 2013 1 ticket		1	50.00
Bishop Crosby Charities Most Reverend Douglas Crosby Charity Dinner Dance February 9, 2013, 1 ticket		1	60.00
Sheila Taylor Rescue group support underdogs, dinner & dance March 15, 2013, 4 tickets	100.00	4	25.00
The Hamilton Black History Committee 17th Annual Rev. John C Holland Awards 1 ticket		1	80.00
The MacNab Circle 215th Birthday Celebration Dinner February 19, 2013, 1 ticket		1	40.00
Friends of the Eramosa Karst Dinner & Dance March 9, 2013 2 tickets	60.00	2	30.00
YWCA Hamilton Women of Distinction Award Evening May 9, 2013, 2 tickets	150.00	2	75.00
Rotary Club of Ancaster 2013 Autumn Stroll, Dundas Valley Conservation September 8, 2013, 2 tickets	220.00	2	110.00
Living Rock Ministries Soupfest 2013 February 6, 2013 2 tickets	30.00	2	15.00

Appendix "B" of Report FCS14006 Page 12 of 23

Theatre Aquarius Vine Dining 2013, June 23, 2013 2 tickets	270.00	2	135.00
Dr. Bob Kemp Hospice Paint the Town Red Dinner May 2, 2013 1 ticket		1	150.00
India-Canada Society of Hamilton & Region Ghandi-King Dinner and Presentation March 22, 2013, Hamilton Convention Centre 1 ticket		1	50.00
Good Shepherd Jazz up the Winter Blues March 18, 2013, Ancaster Mill 2 tickets	300.00	2	150.00
Immigrant Culture & Arts Association Fundraising Gala March 21, 2013, Carmen's 1 ticket		1	50.00
Business Meeting The Brown Barrel, February 5, 2013 Volunteer appreciation lunch for Mark Harrington	31.31	2	15.66
Business Meeting Acclamation Bar & Grill, January 23, 2013 Luncheon with Max Ratevosian (Arts Issues)	26.67	2	13.34
Sue Riley's Retirement March 22, 2013, gift donation			10.00
Volunteer Breakfast, Donut Diner Kathy Archer, April 10, 2013	13.86	2	6.93
Retirement for Fran Depalo June 25, 2013	60.00	2	30,00
Luncheon Meeting to discuss future of Philpott Church Sarcoa Restaurant & Bar, May 29, 2013 Larry MacDonald	66.37	2	33.19
Business Meeting Barangas on the Beach, July 23, 2013 Pat Decaris, Waterfront Development, 2 attendees	54.29	2	27.15
Business Meeting Cora Hamilton, June 10, 2013 2 attendees	37.93	2	18.97
Business Meeting			

Business Meeting Sarcoa Restaurant & Bar, July 9, 2013 Iuncheon - Municipal issues

	t .	н — — — — — — — — — — — — — — — — — — —	
	Appendix "E		rt FCS140 ige 13 of
2 attendees	90.58	2	45.2
Cancer Assistance Program			
12th Annual Pasta Gala & Fundraiser			
November 8, 2013, Michangelo's Banquet Centre 1 ticket		1	40.
			40.
Good Shepherd			
Harvest Dinner, October 17, 2013 1 ticket		1	125.
		. 1	120.
Business Meeting			
The Brown Barrel, August 27, 2013 Solar panels for municipal facilities	51.79	2	25.
	51.75	2	20.
Business Meeting			i
Sarcoa, August 17, 2013	FF 00	0	07
Lisa Partito, discuss food & beverage industry	55.20	2	27.
Paul Mallard's Retirement			
September 30, 2013, 1 ticket		1	30.
Business Meeting			
A Better Place Patio, September 24, 2013			
W6 issues	35.14	2	17.
Business Meeting			
The Brown Barrel, October 1, 2013			
City issues & funding	42.97	2	21.
Business Meeting			
Beaver & Bulldog, October 4, 2013			
Montessori school proposal	55.15	2	27.
Hamilton Chamber of Commerce			
Hamilton Gallery of Distinct Awards			
November 12, 2013, 1 ticket		1	95.
OULIA Lawillar Nine & Dire Calif Termanant	, ,		
CHHA Hamilton-Nine & Dine Golf Tournament Oak Gables Golf Club, Ancaster			
September 14, 2013	40.00	2	20.
Definence of Decks for Oberlas Manufact			
Retirement Party for Charles Manning Friday September 13, 2013			
1 ticket		1	20.
Emmanuel United Church 50th Anniversary Dinner November 30, 2013			
1 ticket		1	25.
Neighbour to Neighbour Centre Vintern's Dinner La Dolce Vita, November 15, 2013			
2 tickets	350.00	2	175.
UFSCAH 2 Tickete	00.00	<i>`</i>	10
2 Tickets	80.00	2	40.

Appendix "B" of Report FCS14006 Page 14 of 23

Total			2,305.51
Tim McCabe's Retirement November 14, 2013			36.00
Business Meeting The Brown Barrell, May 1, 2013 Minor Football Association Representative	24.78	2	12.39
Business Meeting The Brown Barrell, April 22, 2013 Hamilton Bulldogs Promoter	28.07	2	14.04
Business Meeting Prosecco, March 26, 2013 Hamilton Conservation Authority Board	76.41	2	38.21
Business Meeting Symposium Café, March 14, 2013 Volunteer Appreciation Recreation clean up during March Break	48.40	2	24.20

Appendix "B" of Report FCS14006 Page 15 of 23

<u>B. Johnson</u>	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated Expense
Hamilton-Wentworth Federation of Agriculture Terry & Mary-Lynne Howell 2012 Farm Family of the Year Banquet February 23, 2013	50.00	2	25.00
Stoney Creek Chamber of Commerce Annual Dues			169.50
Zonta Club of Hamilton 1 Representing the Mayor March 15, 2013		1	85.00
Stoney Creek Chamber of Commerce Annual Meeting September 18, 2013, 1 ticket		1	10.00
Mileage, January -December 2013			5,520.48
Total			5,809.98

Appendix "B" of Report FCS14006 Page 16 of 23

Brian McHattie		of Pro ndees Exp	Rated ense
Mary Louise Pigott Lawn Bowling Club Rental-Potluck-May 31/13			38.73
Lunch Meeting Hamilton Conservation Authority December 19, 2012, 2 attendees	28.39	2	14.20
Lunch Meeting Bay Area Restorative Council Go Tempura January 18, 2013, 2 attendees	22.60	2	11.30
Lunch Meeting Heritage Group April 19, 2013, 2 attendees	20.06	2	10.03
Hamilton Chamber of Commerce City Managers Breakfast	20.00	-	45.20
Powergroup communicate with style Professional Development Training-Social Media session 1			678.00
Total			797.46

Sam Merulla	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated <u>Expense</u>
American Planning Association 2013 National Planning Conference			
Chicago, IL			
April 12-16, 2013			
Registration	718.36		
Mileage	424.44		
Accommodation	1074.31		
Per diem	380.00		
Parking	219.17		2,816.28
		_	
Total			2,816.28

Appendix "B" of Report FCS14006 Page 18 of 23

B. Morelli

Total

Total# ofProRatedExpenseAttendeesExpense

Appendix "B" of Report FCS14006 Page 19 of 23

<u>J. Partridge</u>	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated <u>Expense</u>
Environment Hamilton Environmentalist of the Year Dinner 2013 May 28, 2013	60.00	2	30.00
Total			30.00

Appendix "B" of Report FCS14006 Page 20 of 23

<u>R. Pasuta</u>	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated Expense
EDCO Awards Economic Development Council of Ontario Marketing Awards London, Ontario February 7-8, 2013 Mileage Accommodation	140.40 <u>179.67</u>		320.07
TAPMO Meeting in Toronto Go Transit, February 24, 2013			20.00
Mileage, January-February 2013			703.08
Flamborough Chamber of Commerce Carlisle Golf & Country Club May 29, 2013			200.00
March-May 2013 Mileage			683.10
407 ETR, April 2013			12.49
407 ETR, May 2013			29.11
Mileage, June-August 2013			1,182.60
Mileage, August-November 2013			825.78
Mileage, November -December 2013			669.60
407 ETR, December 2013			27.60
Total		<u></u>	4,673.43

Appendix "B" of Report FCS14006 Page 21 of 23

<u>M. Pearson</u>	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated <u>Expense</u>
The Grand Peach Ball Liuna Gardens, Winona July 19, 2013,	200.00	4	50.00
Mayor's State of the City Address Stoney Creek Chamber of Commerce January 29, 2013			39.55
Stoney Creek Citizen of the Year May 9, 2013			45.20
Mileage, February-November 2013			290.52
Tim McCabe Retirement Event, November 14, 2013			36.00
Betty-Anne Major's Retirement Party-November 21, 2013		·	20.00
Parking, October 25, 2013			6.00
Parking, October 31, 2013			8.00
Total			495.27

2

Appendix "B" of Report FCS14006 Page 22 of 23

R. Powers	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated Expense
Clara's Climb Speaking on Inspired and Connected Performance Mohawk College, April 26, 2013, 1 ticket			10.00
Hamilton Chamber of Commerce Dundas Community Awards 38th Dundas Distinguished Citizen of the Year Award April 26, 2013			79.10
Canadian Urban Transit Association (CUTA Vice -Chair & City Council Representative) Executive Board of Directors & Annual Conference St John's, Newfoundland			
June1-5, 2013 Registration Airfare Mileage Accommodations Per diem	796.65 790.61 78.84 465.66 142.00		
Taxi Parking	65.00 84.00		2,422.76
Canadian Urban Transit Association Executive Committee Meeting (CUTA Vice-Chair & City Council Representative) Toronto, Ontario September 19-20, 2013			
Go Transit Accommodation	20.00 168.37		188.37
Canadian Urban Transit Association Executive, Board & TBAC Committee Meeting (CUTA Vice-Chair & City Council Representative) Calgary, Alberta			
November 22-25, 2013 Airfare Accommodation	637.82 289.66		
Per diem Taxi	213.00 100.00		1,240.48
Total			3,940.71

Appendix "B" of Report FCS14006 Page 23 of 23

T. Whitehead	Total <u>Expense</u>	# of <u>Attendees</u>	ProRated Expense
Town & Gown Association of Ontario (TGAO) Membership renewal January-December 2013			150.00
Knights of Columbus Regina Mundi Council 12745 Father Daughter Valentines Dance February 8, 2013			6:00
FCM Prince George, British Columbia March 5-10, 2013 Transportation Accommodation Per diem	1,029.94 572.34 <u>300.00</u>		1,902.28
Hamilton Chamber of Commerce Hamilton Economic Summit May 9, 2013, McMaster Innovation Park			385.00
FCM Vancouver, B.C May 31-June 5, 2013 Registration Airfare Accommodations Per diem Taxi	865.00 716.37 1,514.50 225.00 <u>29.00</u>)	3,349.87
Powergroup Communications Inc. Professional Development Training, Session1, 2,3			2,712.00
Hamilton West Mountain United Bocce Association Dinner & Dance, October 27, 2013, 1 ticket	315.00) 7	45.00
Hamilton Chamber of Commerce Hamilton Gallery of Distinction 2013 Awards, 1 ticket	190.00	2	95.00
Knights of Columbus Regina Mundi Council Christmas breakfast ticket, December 7, 2013		т. н <u>.</u>	5.00
Total	·····		8,650.15